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Questions

If the exponent in the binomial expansion is 6, then the middle term is

The first three terms in the expansion of (1 - x)‘3are

The first three terms in the expansion of (1 - x)'2are

The first three terms in the expansion of (1 - x)'1are

The first three terms in the expansion of (1 + x)3are

The first three terms in the expansion of (1 + x)'2are

The first three terms in the expansion of (1 + x)'1are

The sum of coefficients in the binomial expansion equals to
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In the expansion of (a + x)"the general term Ty 4 qis

a+xis

If n is any positive integer then n! > nZfor

If a statement S(n) is true for n = 1 and the truth of S(n) for n = k implies the truth of S(n) for
=k + 1, then S(n) is true for all

If n is any positive integer then n2>n + 3 for

If n is any positive integer then n! > 2n-or

1+3x+6x2 +10x3 +....=

Answers Choice

A. 2nd

1 + 3x + 6x<sup>2</sup>
1 - 3x + 6x<sup>2 </sup>
-3 - 3x - Bx<sup>2</sup>
1 - 3x - 6x<sup>2</sup>

1 - 2x + 3x<sup>2</sup>
1 - 2x - 3x<sup>2</sup>

1+ 2x + 3x<sup>2</sup>
-2 - 2x +3x<sup>2</sup>

1 + X + x<sup>2</sup>
1 - X - x<sup>2</sup>
-1 -x +x<sup>2</sup>
1 - X+ x<sup>2</sup>

1 + 3x +6x<sup>2</sup>
1- 3x + 6x<sup>2</sup>\
-3 -3x -6x<sup>2</sup>
1- 3x -Bx<sup>2</sup>

1 - 2x + 3x<sup>2</sup>
1 - 2x - 3x<sup>2</sup>

1 + 2x + 3x<sup>2</sup>
-2 -2x + 3x<sup>2</sup>

1 + x + x<sup>2</sup>
1 - X - x<sup>2</sup>

-1 -X + x<sup>2</sup>
1 - X+ x<sup>2</sup>
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. 2<sup>n+1</sup>
2<sup>n-1</sup>
2<sup>n</sup>

Even

Odd

Prime

None of these
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. A trinomial

. A binomial

A monomial

. None of these
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. Real numbers n
Integers n

. Positive integers n
. None of these
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The general term in the expansion of (a+x)n is

If the sum of even coefficients in the expansion of (1+x)n is 128 then

The sum of first n even number is

The third term in the expansion of (1+2x) is

If nEZ+ then(a+x)n is a/an

The proposition S(k+1) is true when is trueVKeEN

If x+y+z+......4+2n = 2n+1-1V n€W,then cube root of xyz is equal to

The exponent of xin 10th term in the expansion of (a+x)n

In the expansion of (x+y)n the coefficient of 5th and 12th terms are equal then n=

The last term of (1+2x)-2

The no of term is the expansion of (a+x)n-1 is

There are two middle terms in the expansion of (a+x)n if n is

The coefficient of xn in the expansion of (1-x)-1 is
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. rth term
none

n=7
n=9
None
n2

n+1
n+2

2x2
452

4x2

. Convergent series
. Infinite series

. Divergent series
S(n)

S(1)
S(k-1)

n-2

. Even +ve integer
. +ve integer

All
. (-1)n2n

. (-1)n(n+1)
. (n+1)



